

Alfred Sunkani Ayenbordejo

15/ENG04/016

Electrical & Electronic Engineering

ENG 381

① IF $y = e^{x^2+x}$
show that

$$y'' = y'(2x+1) + 2y$$

and hence prove that

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

Soln

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + 2e^{x^2+x}$$

$$\underbrace{y''}_{w_1} = \underbrace{y'(2x+1)}_{w_2} + \underbrace{2y}_{w_3}$$

For w_1

$$y^{n+2}$$

For w_2

$$u = y'$$

$$v = 2x+1$$

$$u^n = y^{(n+1)}$$

$$v' = 2$$

$$u^{(n-1)} = y^{(n)}$$

$$v'' = 0$$

$$y^{(n+1)}(2x+1) + ny^{(n)}(2)$$

For w_3

$$2y^{(n)}$$

$$2y^n$$

$$w_1 = w_2 + w_3$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + ny^{(n)}(2) + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^{(n)} + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

② (i) $y = x^3 e^{4x}$, determine $y^{(5)}$

$$u = e^{4x}$$

$$u^n = 4^n e^{4x}$$

$$u^{(n-1)} = 4^{n-1} e^{4x}$$

$$u^{(n-2)} = 4^{n-2} e^{4x}$$

$$u^{(n-3)} = 4^{n-3} e^{4x}$$

$$v = x^3$$

$$v' = 3x^2$$

$$v'' = 6x$$

$$v''' = 6$$

$$v^{(4)} = 0$$

$$y^n = u^n v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v'''$$

$$+ \frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} v^{(4)}$$

$$y^n = 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + \frac{n(n-1)}{2} 4^{n-2} e^{4x} 6x +$$

$$\frac{n(n-1)(n-2)}{3!} 4^{n-3} e^{4x} 6$$

$$y^n = 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + n(n-1) 4^{n-2} e^{4x} 3x +$$

$$y^5 = 4^5 e^{4x} x^3 + 5 \times 4^4 e^{4x} 3x^2 + 5(5-1) 4^3 e^{4x} 3x$$

$$y^5 = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x}$$

20) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$ Show that $x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^{(n)} = 0$

$$\underbrace{x^2 y^{(2)}}_{w_1} + \underbrace{x y^{(1)}}_{w_2} + \underbrace{y}_{w_3} = 0$$

For w_1 ,

$u = y^{(2)}$	$v = x^2$
$u^{(n)} = y^{(n+2)}$	$v^{(1)} = 2x$
$u^{(n-1)} = y^{(n+1)}$	$v^{(2)} = 2$
$u^{(n-2)} = y^{(n)}$	$v^{(3)} = 0$

$$= y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2!} y^{(n)} 2 + 0$$

For w_2

$u = y^{(1)}$	$v = x$
$u^{(n)} = y^{(n+1)}$	$v^{(1)} = 1$
$u^{(n-1)} = y^{(n)}$	$v^{(2)} = 0$

$$= y^{(n+1)} x + n y^{(n)} \cdot 1 + 0$$

For w_3

$$\begin{aligned}
 & x^2 y^{(n+2)} + 2x(ny^{(n+1)} + n(n-1)y^{(n)} + xy^{(n+1)} + ny^{(n)} + y^{(n)}) = 0 \\
 & x^2 y^{(n+2)} + 2nxy^{(n+1)} + n(n+1)y^{(n)} + xy^{(n+1)} + ny^{(n)} + y^{(n)} = 0 \\
 & x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + [n(n-1) + n+1]y^{(n)} = 0 \\
 & x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 - n + n + 1)y^{(n)} = 0 \\
 & x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + [n^2 + 1]y^{(n)} = 0
 \end{aligned}$$